de2ir ¢

7 J
90

By = €% + ae® + 20 OB L WMEOTIH —11 L5 3 & 3 10EM o DEERD
x. (BBA)

V=24 0€712 yuy e =trace

4 c2ttob +2 (220)
TET A S {IF Lrvin #9215% »>0.

2 L T R AT
22 Af‘#ﬁé’{ oA S el FUR30D

LA . 3 "
diB=-%  dA=| YinrEwss. o a0 @
@IQJ‘} a/<‘$[“ @‘)
il d=er p-etegy
€P+53—‘:_§\ (f"-e‘fr:; —->p+3,zo‘

5‘_@?&2{3
C¥eaetrazp+ e*trathtag =y
(erredy —2eP% o 4 ( oty €¥) + 2(psg)my]

e %)L‘Z{'Ox‘(fv %) +2:0=-1]

b 2
= a2 O
G —2 .l I
_at . _
3 9
o= 34
Ak F¢ARI=
AW 19 pe-f % 3 B

1 B4R  http://www.mathtext.info/



BIf y = € + ae® + 20 ORRKIE L B/ MEOFI —11 £725 L 9 ICEHK a DiEERD

i (BEEX ]
eX={ kth' C ¢ + >0 , LS A fv -

oy Ly €= oA 89 o0 by T

‘j:/t‘+a/6? TZ‘O%X bRt
Y=ok +0 4 -7%—

- 2‘_7(;4*0\* “}2_

n D ARt 2700 e

-|b>0. N>y, A< @
card AZAEE B3 Aa{ET Onm3oK o RATENOBE |
st Ad BT JTARKIB LY prAb (Bt piETic
(A FAR)T (42 0-18)
= drend t2lopd + A +ofa2hif
= A+ A (d 1Ay w2 bgdp
= Q) 2dp oty *elogde O

U AR BRI 9o B0 2AKFAARS
dipo-L  aps | o@rr) e AT A0 5y =30

"0”}»50\;0\(0 \.w@ rTd3 @ T @ ‘:ﬁ\)\Téé
(£Y 2] re(-2) —2lud

- ﬂl«?? .,._-@2
-4 - 2
= - %L»z o puN=1l 1zrd ot
0\2‘_ ) ai_g
K] 2 == J éé @ ©®ay W<F T
A= € |
0=~b

1 %% http://www.mathtext.info/



